CBT APRIL ALL SUBJECTS QUESTION PAPER 2025-2026

ENGLISH QUESTION PAPER

Passage

The Indian peafowl, also known as the blue peafowl, is a large and colorful bird. It has a
distinctive call that sounds like "may-awe". The peacock, the male bird, has bright blue
and green feathers on its body. It also has a long, beautiful tail with eyes-like patterns.
The peahen, the female bird, is duller in color and has no tail.

The peafowl lives in forests and grasslands. It eats seeds, grains, and insects. The
peafowl is also known for its dancing skills. The peacock spreads its colorful tail and
dances to attract the peahen. This dance is a beautiful sight to see.

Questions

1). What is the distinctive call of the Indian peafowl?
a) "May-awe"

b) "Chirp-chirp"

¢) "Tweet-tweet"

d) "Caw-caw"

Answer: a) "May-awe"
Feedback: The passage clearly states that the Indian peafowl's distinctive call sounds
like "may-awe".

2. What is special about the peacock's tail?
a) It is short and dull

b) It is long and colorful

¢) It is round and spotted

d) It is thin and straight

Answer: b) It is long and colorful
Feedback: According to the passage, the peacock has a long, beautiful tail with eyes-like
patterns.

3. Where does the peafowl live?
a) In deserts and mountains

b) In forests and grasslands

¢) In rivers and oceans

d) In cities and towns



Answer: b) In forests and grasslands
Feedback: The passage states that the peafowl lives in forests and grasslands.

4. What does the peacock do to attract the peahen?
a) It sings a song

b) It spreads its colorful tail and dances

c) It flies high in the sky

d) It hides behind a tree

Answer: b) It spreads its colorful tail and dances
Feedback: According to the passage, the peacock spreads its colorful tail and dances to
attract the peahen.

5. What does the passage mainly describe?
a) The habitat of the peafowl

b) The characteristics of the peafowl

c¢) The behavior of the peafowl

d) The diet of the peafowl

Answer: b) The characteristics of the peafowl
Feedback: The passage mainly describes the physical characteristics and behavior of the
Indian peafowl.

Q Choose the Correct Verb Form
6.IfI (study) harder, I would have passed the exam.

a) study

b) studied

c¢) will study

d) am studying

Answer: b) studied
Feedback: The correct verb form is "studied" because it is in the past tense and indicates
a hypothetical or uncertain situation.

7. By the time I arrived, they (finish) dinner.

a) finish

b) finishes

¢) will finish

d) had finished



Answer: d) had finished
Feedback: The correct verb form is "had finished" because it indicates an action that
occurred before another action in the past.

Q. Fill in the blanks with the correct set of options.

My mother is the most (1) person I know. She always puts others before
herself and has a heart of gold. Her (2) smile can light up a room and make
everyone feel welcome. She is also very (3) and can cook the most delicious

meals. My mother is my role model and I appreciate her for everything she does for me.
8. My mother is the most person I know.

a) intelligent
b) kind-hearted

¢) famous
d) wealthy

Answer: b) kind-hearted
Feedback: The paragraph describes the mother as someone who always puts others
before herself, which suggests that she is kind-hearted.

9. Her smile can light up a room and make everyone feel welcome.

a) sad
b) bright

c) angry
d) boring

Answer: b) bright
Feedback: The paragraph describes the mother's smile as one that can light up a room,
which suggests that it is bright.

10. She is also very and can cook the most delicious meals.
a) lazy

b) talented

c) busy

d) tired

Answer: b) talented



Feedback: The paragraph describes the mother as someone who can cook delicious
meals, which suggests that she is talented in the kitchen.

MATHS

11. A bookshelf has 5 shelves, and each shelf can hold 8 books. If the bookshelf is
currently empty, how many books can be placed on it in total?

A) 20 books

B) 30 books

C) 40 books

D) 50 books

Ans: Option (c¢)

Feedback: On multiplication 5 X 8 = 40

12. A bakery sells 250 loaves of bread per day. If each loaf costs 225, how much money
does the bakery make in a day?

A) 35000

B) 26000

C) %6250

D) 27500

Ans Option (c)

Feedback: Multiplication of 250 with 25 % is 6250

13. A group of friends want to share some candy equally. If they have 48 pieces of candy
and there are 8 friends, how many pieces of candy will each friend get?

A) 4 pieces

B) 6 pieces

C) 5 pieces

D) 8 pieces

Ans: Option (B)

Feedback: Division of 48 + 8 = 6

14. What is the area of a rectangle with a length of 6 cm and a width of 4 cm?
A) 10 cm?2

B) 12 cm?2

C) 20 cm?2

D) 24 cm?2

Ans Option (D)

Feedback: Area of rectangle=LXB =6 X4 =24



15. A square has a boundary of 16 cm. What is the length of each side?
A) 4 cm

B) 2 cm

C) 6 cm

D)8 cm

Ans Option (A)

Feedback: Side = Perimeter + side =16 + 4 =4

16.A rectangular garden has an area of 48 m2. If the length of the garden is 8 m, what is
the width?

A)4m

B) 6 m

C)8m

D)iom

Ans Option (B)

Feedback: width = Area + length =48 + 8 =6

17. What is the boundary of a triangle with sides of 5 cm, 6 cm, and 7 cm?
A)12cm

B) 15 cm

C) 20 cm

D) 18 cm

Ans Option (D)

Feedback: Length of boundary of triangle = Sum of its three sides= 5+6+7= 18cm

18. A room has a rectangular floor with a boundary of 24 m. If the width of the room is 4
m, what is the length?

A)4m

B) 6 m

C)8m

D)iom

Ans Option (C)

Feedback: Length of rectangle = (boundary + 2) — width = (24 + 2)-4=8

19) A farmer has 12 bags of wheat, and each bag contains 25 kg of wheat. How many
kilograms of wheat does the farmer have in total?

A) 200 kg

B) 250 kg

C) 350 kg

D) 300 kg

Ans Option (D)



Feedback: Total weight= No. of bags X wt. of each bag= 12 X 25= 300 kg

20) A water tank can hold 2400 liters of water. If 1200 liters of water are already in the
tank, how much more water can be added?

A) 1000 litres

B) 1200 litres

C) 1400 litres

D) 1600 litres

Ans Option (B)

Feedback: water that can be added = total capacity — amount of water present

water that can be added = 2400 — 1200 = 1200 litres

SCIENCE

21 Identify the following in the correct order :

. a) Herb, shrub, tree
J b) Tree, shrub, herb
. ¢) Shrub, herb, tree
. d) Shrub, tree, herb

Ans. C
Explanation-Herbs are tiny, soft and green plants, shrubs are medium sized and bushy,
trees are tall and woody plants.

22 Which of the following is an example of this type of plant, see the picture and answer
the question.



. Strawberry

. Grapevine
. Rose

J Oak
Ans.A)Strawberry

Explanation- Strawberry is a creeper which spreads horizontally on the ground.

23 Find the incorrect statement(s) -

i. All living organisms grow

ii. All living organisms prepare their own food
iii. All living organisms breathe

iv. All living organisms perish (die)
OPTIONS:

. T: (i) (iii) F: (ii) (iv)

. T: (i) (i) (iii) F: (iv)

. T: (i) (iv) F: (iii) (ii)

. T: (1) (iii) (iv) F: (ii)

Ans. D)
Explanation- I, iii and iv statements are correct, but ii is incorrect as only green plants
can prepare their own food.

24 Which type of plant has a single stem and grows tall?
(A)Tree

(B) Shrub

(C) Creeper

(D) Climber

Ans. A) Tree,
Explanation- trees are tall plants.



25. What is common between a robot and a dog?
. They both grow

. They both give birth to new ones

. They both respond to stimuli

. They both have similar gene structure
Ans. C)

Explanation-A robot is non living but can respond due to artificial intelligence.

INSTRUCTIONS FOR QUESTION 6 TO 9-
Pictures of some living and non living things are given below.
Use the given images to answer related questions

CHAIR - MUSHROOM

g
i
f

CAT LLOON

26 Which of the given objects breathe?
(A) cat and balloon

(B) mushroom and cat

(C) mushroom and chair

(D) mushroom and balloon

Ans) B)
Explanation- Mushroom and cat, as they both are living.

27 Which of the given objects was once a part of a living organism?
(A) Cat

(B) Chair

(C) Mushroom

(D) Balloon

Ans. B) Chair,
Explanation: It is made up of wood which is obtained from trees.



28 Which one of the given have/ has feelings?
(A) Cat

(B) Cat and Mushroom

(C) Mushroom

(D) Chair

Ans (B) Cat and Mushroom
Explanation-Cat and mushroom are living things and have sensitivity.

29 Which one of the following objects is non-living but can GROW in size?
(A) chair

(B) balloon

(C) cat

(D) both B and C

Ans B) .
Explanation -Ballon can be inflated

30 Choose the odd one out:
(A) Rose bush

(B) Cotton plant

(C) Aloe vera

(D) Grapes

Ans. D)
Explanation-Grape plant is a climber and others are shrubs.

SOCIAL SCIENCE

CASE BASED QUESTION

Water is essential for our survival. We need water to drink, to grow crops, and to keep
our environment clean. However, water is a limited resource, and we must conserve it to
ensure that it is available for future generations.There are many ways to conserve water.
One way is to fix leaky taps and pipes. Rainwater harvesting is the process of collecting
and storing rainwater for future use. We can use rainwater to water our plants, wash our
clothes, and even drink it after proper treatment. We can also use drought-resistant
plants in our gardens to reduce water consumption.Finally, we can educate others about
the importance of water conservation.



31. Why is it important to conserve water?

a) Because water is abundant and we can waste it

b) Because water is a limited resource and we must ensure its availability for future
generations

c¢) Because water conservation is a hobby

d) Because water conservation is a waste of time

Correct Answer: b) Because water is a limited resource and we must ensure its
availability for future generations.

Explanation

The correct answer is “Because water is a limited resource and we must ensure its
availability for future generations”. Water conservation is essential to ensure that water
is available for future generations.

32. What is one way to conserve water?

a) Taking longer showers

b) Fixing leaky taps and pipes

c¢) Using hose pipes to wash cars and bicycles
d) Wasting water while brushing teeth

Correct Answer: b) Fixing leaky taps and pipes
Explanation
Fixing leaky taps and pipes is one way to conserve water and reduce waste.

33. What is rainwater harvesting?*

a) The process of collecting and storing rainwater for future use
b) The process of wasting rainwater

c) The process of using groundwater

d) The process of conserving energy

Correct Answer: a) The process of collecting and storing rainwater for future use.
Explanation

Rainwater harvesting is an effective way to conserve water and reduce our dependence
on groundwater.

34. Why should we use drought-resistant plants in our gardens?*
a) Because they are beautiful

b) Because they are easy to maintain

c¢) Because they reduce water consumption

d) Because they are expensive



Correct Answer: ¢) Because they reduce water consumption

Explanation

Drought-resistant plants are ideal for gardens because they reduce water consumption
and are easy to maintain.

35. What can we do to encourage others to conserve water?

a) Educate them about the importance of water conservation

b) Force them to conserve water

c¢) Ignore them

d) Punish them

Correct Answer: a) Educate them about the importance of water conservation
Explanation

Educating others about the importance of water conservation is an effective way to
encourage them to adopt water-saving habits.

36. What is the main use of forests?
A) To provide shelter for animals

B) To provide wood for furniture

C) To provide oxygen and support life
D) To provide land for agriculture

Correct Answer: C) To provide oxygen and support life
Explanation: Forests are often referred to as the “lungs of the Earth” because they
produce oxygen through photosynthesis, which is essential for human and animal life.

37.Which of the following is a product obtained from forests?
A) Cotton

B) Wool

C) Paper

D) Silk

Correct Answer: C) Paper

Explanation: Forests are a source of wood pulp, which is used to make paper. Many
other products, such as cardboard, packaging materials, and even textiles, also come
from forests.

38.What is the term for the process of cutting down trees in a forest?
A) Deforestation
B) Reforestation
C) Afforestation
D) Conservation



Correct Answer: A) Deforestation

Explanation: Deforestation is the process of cutting down trees in a forest, usually for
agricultural purposes, urbanization, or logging. This can have severe environmental
consequences, including loss of biodiversity and soil erosion.

39.What is the role of forests in supporting wildlife?

A) They provide food and shelter for animals

B) They provide habitat for only certain species of animals
C) They do not support wildlife

D) They harm wildlife

Correct Answer: A) They provide food and shelter for animals.

Explanation: Forests provide food, shelter, and habitat for many different species of
animals.

40.How do forests help regulate the climate?

A) They absorb carbon dioxide and produce oxygen

B) They produce carbon dioxide and absorb oxygen

C) They do not affect the climate

D) They harm the climate

Correct Answer: A) They absorb carbon dioxide and produce oxygen.

Explanation: Forests play an important role in regulating the climate by absorbing
carbon dioxide and producing oxygen.
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